Contents

O TEACHER GUIDE

e Assessment RUDTIC ..., 4
e How is Our Resource Organized? ..............cccccoiiiiiiiiiiiiii, 5
e Bloom’s Taxonomy for Reading Comprehension..................................... 6
®  VoCabUlary . ..o, 6

€ STUDENT HANDOUTS
READING COMPREHENSION

e  The Transportation Footprint of a Community.............ccccoevviiieiniiiennnn. 7

©  Graphic OTganizer .........cooiiiiiiiiiiii e 12

e Carbon Footprint Calculator.............cccooooiiiiiiii 14

e (alculating Your Community’s New, Improved Carbon Footprint...... 16

©  CIOSSWOT ...t 18

®  Word Search ........oooiiii 19

e Comprehension QUIZ .........ooooiiiiiiiiiiiiiii e 20

@ EASY MARKING™ ANSWER KEY ..........ccooooiiiiiiiiiiieee e, 22
MINI POSTERS ..o, 24

v/ 6 BONUS Activity Pages! Additional worksheets for your students @

e Go to our website: www.classroomcompletepress.com/bonus
e Enter item CC5780
* Enter pass code CC5780D for Activity Pages

oo
. ..

@ CLASSROOM COMP LETEA!PRESS . Reducing Your Community’s Carbon Footprint CCP5780-2

.
'''''



NAME: 8 Before You Read @

The Transportation Footprint
of a Community

1. the word TRUE if the statement is TRUE or
FALSE if if is FALSE.
a) Sharing rides to work is called carpooling.

TRUE FALSE

[ ]
° [ J
o °
o °
o °
° °
bt °
: b) Buses are a type of public transport. °
. TRUE FALSE N
: ¢) Telecommuters are old-fashioned teleph °
. TRUE FALSE B
: d) Transportafion adds very little to the print of a community. L4
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[ ]

TRUE FALSE

e) Biking has the same carbon foof iNng a bus.
TRUE FALSE

f) Electric cars usually have a c torint.
TRUE FALSE

0000000000000 o0 [J .............0.....
2. Put a check mark (v') next t swer that is most correct.

a) Which invention was in cause of people moving from cities to the suburbs?
O A ca
O B radio

O ¢ telepho

O b eleg

b) Which mea sportation has the smallest carbon footprint?
O a
O s
O c c
O b train

c) How do most people in the United States travel to work?
O A bus
O B cor
O ¢ train
O b wak e

© CLASSROOM COMPLETEJ@,PRESS 214 Redue g Your C ity’s Carbon Footprint CCP5780-2

AFJEep 5ou Rjeg(le NAME:

The Transportation Footprint
of a Community

1. Number the types of commuting from 1 for the smalles inf¥o 6 for the largest
footprint.

a) one person driving a car \
b) fwo-person carpool %

¢) three-person carpool

d) five-person carpool
e) bicycle

f) bus

OO0000

[ ]
. '
* 2 the word TRUE | (Circl® the word FALSE .
° if it is FALSE. o
[ J
° a) Telecommute :
® TRUE °
4 °
° b) People w j ave a larger commute footprint than °
° inSMhall towns. .
L4 °
L4 °
[ ]
° c) ols have a carbon footprint that is twice as :
° rson carpools. °
° °
[ ] [ J
: NeW) towns are being built that are designed like old-fime small villages. :
° RUE FALSE °
[ J [ ]
° e) Riding a bicycle with traffic is safer than riding in a separate bike lane. °
° TRUE FALSE =
[ ] [}
L] f) The invention of the car led to changes in where people live. g
[}
. TRUE FALSE .
.........O..........._’..O.............O..:
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The Transportation Footprint
of a Community

ost of the carbon dioxide

we put info the atmosphere

comes from energy use.
Transportation uses a big part of this
energy. This is because most of our cars,
buses, and trains either burn fossil fuel
or run on electricity that comes from
power plants that burn fossil fuel.

In most cities, people drive to their jobs.
Most of these commuters ride alone i .
rather than sharing rides. Driving alone ic Gongest both time consuming
burns more fossil fuel than any other
way of commuting. The next best way to
lower your transportation footprint j re aride, called earpooling. Taking a
public bus or commuter train is usg@ll better than carpooling.

and harmful on the environment

The only means of transportati
(Confusing—isn’t it?) When you
almost no greenhouse gas

n’t have a footprint is tfravel by fooft.
un, or ride a bicycle, you are emitting

Sometimes biking to wor lly save time. Suppose someone drives

10 miles across town f vy traffic to their job. On a good day; it takes

20 minutes each wi way home they usually stop at the gym to exercise
for an hour. Their co d exercise have taken one hour and 40 minutes out
of their life. If th e to work, the round-trip commute would take only
one hour and 3 , and they wouldn’t have to stop at the gym because

they would dy goften their exercise. Less time is spent, they get their
exercise, e money on gasoline and gym membership fees.

Which means of commuting to work has the largest

N —= carbon footprint, and which means has the smallest?
-

ig:
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NAME: ATer You Read @

The Transportation Footprint
of a Community

3. Answer the questions in complete seniences.

a) Explain why people moved from cities and village:

b) Describe two ways that changing from ¢
can save money.

muting by bicycle

|'k here he drives to work five days a week.

Jill lives in a small villag&iw walks. Describe three ways their lives are different
because of where se differences that are related to their carbon
footprints and t
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lhands-oy Activfﬂg +9 &
Carbon Footprint Calculator %

If your state is a low footprint state, write down 13 tons per year.
If your state is a medium footprint state, write down 20 tons per year.

If your state is a high footprint state, write down 31 tons per year.
These will be good guesses of the personal footprints of the peopl our munity.
If you live in one of the countries listed in the table, use the footp there.

You might find it interesting fo compare the per capita
footprint of your community with some other countries and Per capita
with the world average. You can find these values in the Footprint
table at the bottom of the page. in Tons

Now you must find out how many people live in your i i 9.7
community—in other words, the population. There a 19
several ways to do this. Australia 2]

Many people already know your town or count

population. Your tfeacher would be a goo O ask.

Many towns have signs where major highw the town that give the town name
and population.

You can go to the official website of jhe U.S. sus Bureau at:
http://www.census.gov/popest/esti html,

You will find a link to the most rec fion estimates. Click on “All incorporated
places” and then on “Excel” or *C er the name of your state. You will find an
alphabetical list of cities in yo the population of each.

To find your community carbon f @ imply multiply the per capita footprint times the
population:

(per capita footprint, tons P n) x (community population) =
community carbon footpr, S

Community Carbon Footprint = Tons
calculate how much certain changes in your community

Write the answer here:

On the following pa
can reduce its foof

For Comparison

Per capita
Footprint

E Country in Tons

Afghanistan 0.03

India 1.2

Q China 4.6

United States 20
World Average 4.5

{15
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Comprehension Quiz

Answer each question in complete sentences.

1. What does telecommuting mean?

How can food waste be used to generate eleciri

What makes a community carbo

Explain how planting t rs the carbon footprint of a community.

Identify three alternative energy sources with little or no carbon footprint.

SUBTOTAL: /12
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Word Search

Find all of the words in the Word Search. Words are written horizontally, vertically,
diagonally, and some are even written backwards.

* active decompose greenhouse organic turbine
. atmosphere fertilizer habitat per capita wind

* carbon footprint fossil fuel heat island pesticide

: carbon neutral gas methane

. carpool geothermal microbe

* commuter greenbelt natural

Reducing Your Community’s Carbon Footprint CCP5780-2

How Biofuel Works

Prototype Tank

Natural gas
methane molecule
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The Transportation Footprint
of a Community

1. Number the types of commuting from 1 for the smallest footprint to 6 for the largest : 3. |

footprint. © @) (Answers wil
o : vary.) Cars
a) one person driving a car : made it possible
: to live farther :
b) two-person carpool : from workplaces.

c) three-person carpool : (Answers will
: vary.)

d) five-person carpool

e) bicycle 1. You don't
f bus have to
: buy gasoline.

: 2. You don't
ooooooooooooooooooooooooooooooooooooooooooooo ; have 1o

([ J ° :
. . : pay gym

° 2 the word TRUE if the statement is TRUE or(Circlé) the word FALSE E ormbershio.
. if it is FALSE, :

[ ]
[ J
(]
[

TRUE FALSE

) Pe o livs in su s lly hgye a | c fogtosnt t :
and Kj all S. - w
E FAL :
c) PeOple in foUr-person car e a 'carbon footprint twiCe '

large as people in fwo-person carpools. d) TRUE
TRUE FALSE

d) New towns are being built that are designed like old-time small villages.
TRUE FALSE

e) Riding a bicycle with traffic is safer than riding in a separate bike lane.
TRUE FALSE

f) The invention of the car led to changes in where people live.
TRUE FALSE

................... 2 00000000 OCOCGOOOOGOOEOEOTO
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(]
a) Telecommuters work at home. :
[ ]
(]

2. Jill can get

e) FALSE : exercise walking
. and biking to work.

f) TRUE

°
°
°
°
°
°
°
[
°
° 3. Jill has more free
)
°
°
°
°




